%)
-
Z
m
=
®)
o
=
O
o
oJ
2
wl
m
01}
%)
<
<
-
&







NET
wHE Hinges

N321 FEERE
N321 ALUMINUM HINGE
H Unit: mm
i %S e
= ol
Code p L L1 H H1
() ()
N N N321A 52 40 24 40 24
— D N321C 8 60 35 60 37
MR BEe S ’
EASERE. BTHEND. ENE Color: Black
PR fH. WER. W' Material: Aluminum
RN RRENE . HHEENE
A ABEH180°
N307A/B itk d - | N308A/B itk i W
N307A/B HINGE @ AT ! N308A/B HINGE @ A
o gwl : &
— — 1
= ) <| o : - = % §
. ._ . % .
& o |'J < | L
1
rrrrrrrrr ! 11.5
30 10 ,
X 185
#1/% Material: PA6 50 c | 115 Material: PA6
Unit: mm : Unit: mm
e e | Bu =g e Lz By BB
Code d M & E e E V\Qi'g)h‘ : Code d M Weight (kg)
N307A 6.5 M6 70 46 20 10 0.050 | N308A 6.5 M6 0.100
1
N307B 85 M8 62 40 18 13 0.045 ! N308B 85 M8 0.100
__________________________________________ o oo o oo oo oo
1
g e 6.
N309A £k ! N309B 4% 85 ] -
N309A HINGE ' N309B HINGE & @ g
| 1 «le
| o< %
! |
1
‘ : 40 8
1
#1R Material: PAG 48 20 ! #1% Material: PAG & 16
Unti: mm : Unti: mm
= AEo EREY B8 | wS Lo HEREY 58
Code Bore Bolt Weight (kg) : Code Bore Bolt Weight (kg) ﬂ
| O
N309A 6.5 M6 0.025 | N309B 6.5 M6 0.050 %
|
__________________________________________ e o o o o o o o o o o o oo _—_——_—_.
1
N310A 555 ! N310B 5% 6.1 -
N310A HINGE N N : N310B HINGE - — A=
1 —
@@ I 9) . | @\ &) o
1
oll® . o
T Y X
1 35
20 1 “
4.2 | 60 8
L 384 95| I :
#1& Material: PA6 ‘ o ! 15 Material: PA6 16
Unti: mm : Unti: mm
H2 Az fEREY Er | %5 Lz AR 58
Code Bore Bolt Weight (kg) 1 Code Bore Bolt Weight (kg)
1
1
N310A 42 M4 0.008 | N310B 6.1 M6 0.031
1
1

www.net-conveyor.com D51



NET
#RF Adjustable Handles

N322 S35 & T RSN FIRF R ;
N322 ALUMINUM-ZINC ALLOY ADJUSTABLE HANDLE B

e it RE, HE, RE Color: Black, Orange, Silver
o WR: Material: Hand shank made of aluminum-zinc alloy; spindle made of zinc-plated carbon steel. Unit: mm
FRAFEECESME, HREBE,
me
BEREAEGEE NG, A d R L H
FEFMIRIRAT.
o BRI N322 - M6 x 16 M6 50 16 33
ERFEEIM L EERENREFRT N322 - M6 x 20 M6 50 20 33
o PR
FEREE, SMEEN, N322 - M6 x 25 M6 50 25 33
Em. RERA.
DI E@‘ﬁﬁ N322 - M6 x 30 M6 50 30 33
RERWIE BERE.
N322 - M8 x 20 M8 63 20 44
N322 - M8 x 25 M8 63 25 44
N322 - M8 x 32 M8 63 32 44
N322 - M8 x 40 M8 63 40 44
N322 - M10 x 20 M10 80 20 55
N322 - M10 x 25 M10 80 25 55
N322 - M10 x 32 M10 80 32 55
N322 - M10 x 40 M10 80 40 55
N322 - M12 x 25 M12 95 125] 55]
N322 - M12 x 32 M12 95 32 55
N322 - M12 x 40 M12 95 40 55
N322 - M12 x 50 M12 95 50 55
N322 - M16 x 20 M16 114 20 66
N322 - M16 x 30 M16 114 30 66
>
o N322 - M16 x 50 M16 114 50 66
C
(ﬁ N322 - M16 x 70 M16 114 70 66
>
2 ST T T T T T T T T T T T T T s T e e
N N323 BRUNTESNFIRF . 48 L) N323 BRIKTTRIMNFIRTF . 765 .
% N323 SMALL PLASTIC ADJUSTABLE HANDLE — . N323 LARGE PLASTIC ADJUSTABLE HANDLE = ——%
1 ;
Z 1
) |
— 1
m 1
()] |
1
1
I
1
I
— I
27 |
I
&S o FHHE EE X RS 25 FHFE EE
Code Screw Handle Colour Weight (kg) \ Code Screw Handle Colour Weight (kg)
N323 - M4 x 14 M4x14 0.023 : N323 - M8 x 20 M8x20 0.035
N323 - M4 x 20 M4x20 0.025 : N323 - M8 x 30 M8x30 0.040
N323 - M5 x 20 M5x20 2@ 0.028 : N323 - M8 x 45 M8x45 0.045
N323 - M6 x 20 M6x20 Black 0.030 ! N323 - M8 x 50 M8x50 i%k 0.050
N323 - M6 x 25 M6x25 0.030 : N323 - M8 x 60 M8x60 0.055
N323 - M6 x 30 M6x30 0.030 ! N323 - M10 x 30 M10x30 0.056
1
1 N323 - M10 x 60 M10x60 0.080
I

D52 www.net-conveyor.com



NET
R F Adjustable Handles

N324 S8R5 277 [0 N FIRF
N324 ALUMINUM-ZINC ALLOY ADJUSTABLE HANDLE

Color: Black, Orange, Silver

Material: Hand shank made of aluminum-zinc alloy; spindle made of zinc-plated carbon steel

d

o fifa: BRE, HE, fE Unit: mm

o M
FHEHEEEEERE MRARS, éﬁf d R h H
hESEEE, ode

° EREE! N324 - M6 M6 50 10 33
EMF B2 E B R R A

o . N324 - M8 M8 63 12 44
SRR, SR N324 - M10 M10 80 17 55
WS, EER A,
TR EERE, N324 - M12 M12 95 17 55

N324 - M16 M16 114 20 66

N325 BRINZF N TTEIRF
N325 SMALL PLASTIC ADJUSTABLE HANDLE
48
40
(%0}
R/S 255 FRHE EE Ll
Code Screw Handle Colour Weight (kg) 5'
N325 - M4 M4 0.020 <Z(
26 0
N325 - M5 M5 Black 0.025 -
m
N325 - M6 M6 0.030 |<£
(%0}
2
=
a
________________________________________________________________________________________ <
N325 BRINZF R TTEIRF
N325 LARGE PLASTIC ADJUSTABLE HANDLE
R/S 4227 FREE 2
Code Screw Handle Colour Weight (kg)
N325 - M8 M8 0.030
=&
Black
N325 - M10 M10 0.040

www.net-conveyor.com D53



I
>
zZ
=}
=
m
(0]

0= Handles

NET

N326 SRR ERFHIEF

N326 ALUMINUM-ZINC ALLOY HANDLE

=1
- Color: Black, Red, Yellow, Grey
Material: Hand shank is made of Allumen
L B
A
Unti: mm
RS
L A B d H |
oHifs. BE, 46, BB, KE Code
o MR HERAE
© =G N326 - L90 90 105 20 6.5 37 6
fifia. &, ik
THIGE, SLEN, N326 - L120 120 135 26 8.5 39 7
HHGEES, ERIE.
N326 - L180 180 200 28 8.5 49 7.5
N327 BREFFIBF
N327 PLASTIC HANDLE =1
Color: Black
I Material: PA
L B
A
Unti: mm
Eoc]
Code L A B d H |
o fifa: RE
o M. TRER N327 - L90 90 110 20 6.5 37 6
N327-L117 117 138 25 6.5 43 7
N327 - L120 120 142 28 6.5 40 7
N327 - L180 180 200 28 8.5 49 7.5
N328 BB A T ElIEF .
N328 PF HANDLE ) Color: Black, Red
/r\\ /r\\ Material: Hand Shrank made of PF
\Z N i i
Spindle made of zinc plated
M carbon steel
~de Unti: mm
R/S
Code L d H h
N328 - L90 - M6 90 M6 45 15
o Hifs, Bl U N328 - L120 - M8 120 M8 55 18
o MR- MR AHRE N328 - L180 - M8 180 M8 60 19
© =R
iR, AR, ik, N328 - L240 - M8 240 M8 60 20
HFRE, IMEEN,
MHGEES, ERTIE. N328 - L320 - M8 320 M8 60 21
N328 - L400 - M8 400 M8 76 25
N329 BRIBFFHFHEF N329 BRIBFFRFHEF
N329 MEDIUM PLASTIC HANDLE - N329 LARGE PLASTIC HANDLE
< @
wn
26 U 34
[ o
[
PE IR 225 P B RIELL
(Brass) M8 132 (Brass) M8
158
RS $22F 28 RS R 28
Code Screw Weight (kg) Code Screw Weight (kg)
N329 - L117 - M8 M8 0.07 N329 - L132 - M8 M8 0.120

www.net-conveyor.com




NET
Wk /EEHR/WIES K Glass Clamps / Fixing Parts / Glass Guides

N333 14 L3 A2,
N333 SPRING LOCK
©
2 8 3 — 8
@°
® -

s
i
9
|

22 38
RS MR Be 8
Code Material Color Weight (kg )
N333 #E3& R & Reinforced Polyamide B Black 0.021
N334 HIE Unit: mm
N334 GLASS CLAMP HS BE A B WEH (S) EE
Code Tube Panel thickness Weight (kg)
N334 -25x4 | 25x25 25 40 4 0.02
N334 -25x5 | 25x25 25 40 5 0.02
N334-25x6 | 25x25 25 40 6 0.02
N334 -30x4 | 30x30 30 45 4 0.025
N334-30x5 | 30x30 30 45 5 0.025
N334-30x6 | 30x30 30 45 6 0.025
N334 -30x8 | 30x30 30 45 8 0.025

MR HERERRAFEWIRLE
Material: Reinforced Polyamide with Stainless Steel Set Screws

N336 HIES &K
N336 GLASS GUIDE 65 15
6.5 15 T
; 6.5 ) 1.5
< - R N
S 0
©
©
> © 0 © 0
P E | i RE
N336A N336B N336C

KE. 3K/X

MR BRZE Length: 3 m/pc

Material: Polyvinyl chloride (PVC)

GLASS CLAMPS

www.net-conveyor.com D55



NET
F i Handwheels

N337 BRFi&
N337 SOLID BAKELITE HAND WHEEL WITH HANDLE

- D - D
o] | ch j:JI @] | ch
. d
AE (TYPEA) B & (TYPEB)
Unit: mm
%S p 3 5 H . L B, BXR. HWH. RE. #E
Code IR BRI
N337 - 80 10 80 12 22 16 32 EFEE. ERTEEVMEENRERT
N337 - 100 12 100 14 28 18 55 A SRR, SMERU
ERATEREE, RS
N337 - 125 12 125 16 32 18 65
WER. AR, YRk LR
N337 - 160 16 160 18 38 20 65 SR E IR AN B
N337 - 175 20 175 20 39 28 85 R TR TR
N337 - 200 18 200 20 44 25 £ Color: Black
N337 - 250 22 250 25 52 28 100 Material: Phenolic Resin

N338 Wil F i
N338 SOLID BAKELITE HANDWHEEL WITH FOLD-AWAY HANDLE
w Db
i = =
ol ol | AT =
d,
Unit: mm
= d D B H h L . BHE. 3
G MG, BAR. WA, B, BE
MR BEWE
N338 - 100 12 100 % 40 25 % Pt KERE, AMLEN, FRTHE
NER= (2 (25 £ il 25 £9 ER. A WHLERE AP RA
N338 - 150 16 150 32 50 30 65 Mg RE LIRS 158
N338 - 200 18 200 34 58 38 85 AL, REDE
N338 - 250 22 250 36 63 39 85
Color: Black
N338 - 300 18. 22 300 37 64 40 %0 Material: Phenolic Resin
—
> 98,
4  N339 BNFi ~
g N339 SUPER REINFORCED NYLON HANDWHEEL WITH FINGER GEAR
I )
m ]
5 o D o __ D
I T
i L - i} =
dT i df
2 2
D D
AEl (TYPE A) B # (TYPEB)
Unit: mm
éii D d d1 d2 d3 [ H h L B HE. B KRG 86 BB Ke
M. BEERER
N339 - 80 80 10 24 29 16 27 40 22 45 14 R E AR 8
N339 - 100 100 12 28 33 19 31 44 25 55 15 ERE. ERTHER. EY. 0R. e8SImESTL
N339 - 125 125 12 28 37 19 31 49 25 55 16 PR BFHR. UE BIIRE, REERMRS
N339 - 140 140 12 35 42 19 35 54 30 55 16 CLERETH. FERETH. HIRETH
&ERSERET
N339 - 160 160 16 35 43 23 36 58 30 70 17
NEED) =200 200 & i 4 2 e £ £ 2 2 Color: Black, Yellow, Green, Orange, Grey
N339 - 250 250 22 40 50 27 42 68 35 85 25 Material: Super Reinforced Nylon

www.net-conveyor.com



R
B3

it IHRERATREXE2188SMAARTUE2SE
Add: Building No.2, Xinzha Hi-tech Industrial Park

No.2188, Longcheng Ave., Changzhou, Jiangsu,
China 213012

M{%. (Tel) +86-519-88166775, 86617695

E-Mail: sales@nat-conveyor.com
Web: www.net-conveyor.com

THEEARMRELR

Okl il § Dt 0 S i 0 L0




	封面 1
	NET Conveyor components – hinges, handles, wheels
	封底1

